

PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

February 4, 2016

PIAC FILE # 6512

Ms. Kirsten Walli Board Secretary Ontario Energy Board Suite 2700 2300 Yonge Street 27th floor Toronto, ON M4P 1E4

VIA E-Mail 20 pages

Dear Ms. Walli:

Re: EB-2015-0029 / EB-2015-0049

Union Gas Limited and Enbridge Gas Distribution Inc.

Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

On behalf of the Vulnerable Energy Consumers Coalition (VECC) we have attached their cost claim with respect to the above-noted proceedings. We have also forward a copy to the applicants as well as their counsel via email.

Thank you.

Yours truly,

Michael Janigan Counsel for VECC

Cc:

Union - Vanessa Innis - vinnis@uniongas.com

Patrick McMahon – pmcmahon@uniongas.com

Counsel - Alexander Smith - asmith@torys.com

EGDI - Andrew Mandyam - egdregulatoryproceedings@enbridge.com

Counsel - Dennis O'Leary - doleary@airdberlis.com

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required fields are filled in and the Affidavit portion is signed and sworn or affirmed.

				Instructions					
	ata input is indicat	ed by yellow-shade	d fields. For	mulas are present in the do	ocument to assist	with the calculation of the			
cost claim.		7.00	F RED SANSON						
- All claims m	nust be in Canadiar	i dollars. If applica		xchange rate and country of	The state of the s				
- A separate	"Detail of Fees and	l Disbursements Be	Rate:		Country:	simed" and a "Statement of			
Disbursemen "Summary of - The cost cla - A CV for each within the la	nts Being Claimed"; f Fees and Disburse aim must be suppo ch consultant must st 24 months.	is required for eac ements" covering the rted by a completed t be attached unless	h consultan ne whole of d Affidavit s s, for a give	t or lawyer/articling studer the party's cost claim shou signed by a representative on consultant, a CV has been on Cost Awards, itemized	nt/paralegal. How ld be provided. of the party. n provided to the	vever, only one Board in another process			
File # EB-	EB 2015-0029/E	B 2015-0049		Process: Union Gas Li	mited Enbridge	Gas Distribution Inc.			
Party:	VECC			Affiant's Name:	Donna Brady	Man Table Hall Street			
HST Numbe	13059 240)5		HST Rate Ontario: 3.94%					
	F	ull Registrant		Qualifyin	g Non-Profit	▽			
	Į.	Inregistered			Tax Exempt	ñ			
		Other							
V- WAYNES				Affidavit					
l,	-	onna Brady		, of the City/Town of		Ottawa			
in the Prov	ince/State of	On	tario		, swear or affir	m that:			
2. I have example Being Claime 3. The attach Disbursemen Ontario Ener 4. This cost c	mined all of the do d", "Statement(s) of led "Summary of Fo lts Being Claimed" gy Board process r laim does not inclu	cumentation in sup of Fees Being Claim ees and Disburseme include only costs i referred to above. ade any costs for wo	oport of this ed" and "St ents Being C ncurred and ork done, or	and as such have knowled cost claim, including the a atement(s) of Disbursemen claimed", "Statement(s) of I d time spent directly for the r time spent, by a person the ection on Cost Awards.	ttached "Summar its Being Claimed" Fees Being Claime e purposes of the	y of Fees and Disbursements '. d" and "Statement(s) of Party's participation in the			
Signature	of Affiant		/						
		. /							
		me at the City/		Ott	awa	, ,			
in the Prov	vince/State of	0	ntario	, on	(date)	2016.			
	0	1							
Commission	oner for taking	Attidavits							

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

EB 2015-0029/EB 2015-0049			Process:	Union Gas Limited Enbridge Gas Distribution Inc.
Party:	VECC			
	rskii limbika	Summary of Fee	s and Disburse	ments Being Claimed
Legal/con	sultant fees		\$61,432.50	
Disbursen	nents		\$142.55	
HST			\$2,426.06	
Total Cos	t Claim		\$64,001.11	

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	EB 2015-0029 / EB-2015-0049		Process:	Union Gas Limit	ed and EGDI		
Party:	VECC	Name:	: Michael Janigan				
				Completed Years of experience	of relevant		
Counse	el/Articling Student/Paralegal: Consultant:	✓ □		35			
	CV attached:		CV r	ot required:	~		

Statement of Fees Being Claimed

	Hours	Hourly rate	Subtotal	HST	Total
Preparation	39.80	\$330.00	\$13,134.00	\$517.48	\$13,651.48
Attendance - Technical Conference	1.60	\$330.00	\$528.00	\$20.80	\$548.80
Attendance - Settlement Conference		\$330.00	\$0.00	\$0.00	\$0.00
Attendance - Oral Hearing	11.30	\$330.00	\$3,729.00	\$146.92	\$3,875.92
Argument	3.30	\$330.00	\$1,089.00	\$42.91	\$1,131.91
Case Management		\$170.00	\$0.00	\$0.00	\$0.00

TOTAL LEGAL/CONSULTANT FEES \$18,480.00	00 \$728.11	1 \$19,208.11
---	-------------	---------------

Statement of Disbursements Being Claimed

	Net Cost	HST	Total
Photocopies	\$28.05	\$1.11	\$29.16
Printing	\$114.50	\$4.51	\$119.01
Fax		\$0.00	\$0.00
Courier		\$0.00	\$0.00
Telephone		\$0.00	\$0.00
Postage		\$0.00	\$0.00
Transcripts		\$0.00	\$0.00
Travel: Air		\$0.00	\$0.00
Travel: Car		\$0.00	\$0.00
Travel: Rail		\$0.00	\$0.00
Travel (Other):		\$0.00	\$0.00
Parking		included	\$0.00
Taxi or Airport Limo		\$0.00	\$0.00
Accommodation		\$0.00	\$0.00
Meals		\$0.00	\$0.00
Other:		\$0.00	\$0.00
TOTAL DISBURSEMENTS:	\$142.55	\$5.62	\$148.17

Michael Janigan
Janigan Professional Corporation
c/o Public Interest Advocacy Centre
1204-ONE Nicholas Street
Ottawa, ON
KIN 7B7

STATEMENT OF ACCOUNT

February 4, 2016

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre Suite 1204 ONE Nicholas Street Ottawa, ON KIN 7B7

Re: EB-2015-0029 / EB-2015-0049

Union Gas Limited and Enbridge Gas Distribution Inc.

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$330.00 per hour

To receipt, review, attend on behalf of VECC in the above-noted proceeding.

July 2015 to January 2016

TO: Hours

54.8 Hours @ \$ 330.00 per hour 2.4 Hours @ 165.00 per hour

18,084.00 396.00

HST @ 13%

2,402.40

TOTAL AMOUNT DUE AND OWING:

20,882.40

Michael Janigan Janigan Professional Corporation - 831059738

TraxTime report for Michael Janigan created 2/4/2016 01:36 PM

Saturday, July 04, 2015 - Total 2.5 in: 3:13p out: 5:44p 2.5 6512 Union/Enbridge DSM review file and evidence

Sunday, July 05, 2015 - Total 2 in: 7:24p out: 9:23p 2 6512 Union/Enbridge DSM to review file and Shelley's notes

Monday, July 06, 2015 - Total 3.6 in: 7:47a out: 10:29a 2.7 6512 Union/Enbridge DSM review file and ask questions by teleconference of EDDI in: 9:31p out: 10:27p 0.9 6512 Union/Enbridge DSM review Union questions for TC

Tuesday, July 07, 2015 - Total 1.6 in: 8:58a out: 10:36a 1.6 6512 Union/Enbridge DSM review notes attend Tech conference by Teleconference

Monday, August 03, 2015 - Total 1.3 in: 4:45p out: 6:04p 1.3 6512 Union/Enbridge DSM review Neme evidence and file

Tuesday, August 04, 2015 - Total 0.9 in: 8:07a out: 9:00a 0.9 6512 Union/Enbridge DSM read OSEA evidence review interrog questions

Friday, August 14, 2015 - Total 0.8 in: 9:45a out: 10:30a 0.8 6512 Union/Enbridge DSM review file and conversation with Shelley Grice

Sunday, August 16, 2015 - Total 3 in: 5:12p out: 7:15p 2.1 6512 Union/Enbridge DSM read evidence in: 8:34p out: 9:27p 0.9 6512 Union/Enbridge DSM review evidence and interrogs

Tuesday, August 18, 2015 - Total 2.9
in: 1:02p out: 2:59p 2 6512 Union/Enbridge DSM review file and evidence
in: 10:11p out: 11:02p 0.9 6512 Union/Enbridge DSM review evidence and proposed cross

Wednesday, August 19, 2015 - Total 4.7 in: 7:20a out: 8:25a 1.1 6512 Union/Enbridge DSM review file and evidence and draft cross from SG in: 9:30a out: 11:00a 1.5 6512 Union/Enbridge DSM attendance at OEB in: 2:30p out: 3:15p 0.8 6512 Union/Enbridge DSM review file conversation with SG in: 8:01p out: 9:20p 1.3 6512 Union/Enbridge DSM review cross and compendium

Thursday, August 20, 2015 - Total 7.9 in: 7:45a out: 8:24a 0.7 6512 Union/Enbridge DSM review cross and notes in: 9:35a out: 12:36p 3 6512 Union/Enbridge DSM Monitor proceedings by streaming Broadcast (half rate) in: 1:45p out: 3:30p 1.8 6512 Union/Enbridge DSM monitor proceedings (half rate) in: 8:38p out: 11:00p 2.4 6512 Union/Enbridge DSM review notes and prep

Friday, August 21, 2015 - Total 6.5 in: 7:23a out: 8:21a 1 6512 Union/Enbridge DSM prepand organize for cross in: 9:30a out: 3:00p 5.5 6512 Union/Enbridge DSM attend at OEB

Monday, August 24, 2015 - Total 0.7 in: 12:33p out: 1:16p 0.7 6512 Union/Enbridge DSM review emails and send re panels

Tuesday, August 25, 2015 - Total 1.2 in: 8:10p out: 9:19p 1.2 6512 Union/Enbridge DSM review transcripts and interrogs

Wednesday, August 26, 2015 - Total 2 in: 9:11p out: 11:09p 2 6512 Union/Enbridge DSM review cross examination

Thursday, August 27, 2015 - Total 1.6 in: 7:06p out: 8:41p 1.6 6512 Union/Enbridge DSM review interrogs and transcript re cross examination

Friday, August 28, 2015 - Total 7.7 in: 7:26a out: 8:10a 0.7 6512 Union/Enbridge DSM review notes and evidence prep cross in: 8:48a out: 11:31a 2.7 6512 Union/Enbridge DSM prep for cross conversations with Shelley read evidence in: 12:30p out: 4:45p 4.3 6512 Union/Enbridge DSM attendance in OEB

Friday, September 11, 2015 - Total 1.1 in: 6:03p out: 7:11p 1.1 6512 Union/Enbridge DSM review transcripts argument of EGDI and Union and review file

Thursday, October 01, 2015 - Total 2.3 in: 9:44a out: 12:04p 2.3 6512 Union/Enbridge DSM review and edit draft argument

Friday, October 02, 2015 - Total 1 in: 2:15p out: 3:13p 1 6512 Union/Enbridge DSM read Final argument and edit

Friday, October 23, 2015 - Total 1
in: 1:03p out: 1:30p 0.5 6512 Union/Enbridge DSM read Union reply
in: 6:47p out: 7:17p 0.5 6512 Union/Enbridge DSM read Enbridge reply

Wednesday, January 20, 2016 - Total 0.9 in: 9:02p out: 9:54p 0.9 6512 Union/Enbridge DSM review decision and email

Totals From Thursday, January 01, 2015 To Thursday, February 04, 2016 57.2 6512 Union/Enbridge DSM 57.2 Total

Donna Brady

Subject:

FW: Union/Enbridge DSM cost claim

Attachments:

DSMMJdockets.txt; 2016_01_31_13_17_38UnionEnbridge Disb..pdf

From: Michael Janigan [mailto:mjanigan@piac.ca]

Sent: Thursday, February 04, 2016 1:39 PM

To: Donna Brady

Subject: Union/Enbridge DSM cost claim

Here it is . 187 photocopies please.

Thanks

Michael Janigan Special Counsel Regulatory and Consumer Affairs Public Interest Advocacy Centre 31 Hillsdale Ave. E. Toronto, ON M4S1T4

Office Tele: 416-840-3907

www.piac.ca

187 X O. 15 = 28.05

compandin

PRINT THREE

PRINT THREE
2300 YONGE ST
416 481 5159
CALL AGAIN

8-28-20. ...

DEPTO3 T1 \$6*
TAX-AMT 1 \$F
TAX 1 \$0.10
CHARGE \$71.19

1 V 68 I

911.14

(00) APPROVED-THANK YOU

Retain this copy for your records
Customer copy

71.19

PRINT THREE
2300 YONGE ST
416 A81 5159
CALL AGAIN

_K

REG 08-21-2015 08:53 0053

DEPTO3 T1 \$51.50 TAX-AMT 1 \$51.50 TAX 1 \$6.70 CHARGE \$58.20

(UU) APPKOVED-THANK YOU

Retain this copy for your records
Customer copy

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2015-0029		Process: Union 2015-2020 DSM					
Party:	VECC		Service Provider Name: Shelley Grice					
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Practising/Years Experie	of Relevant			
	Legal Counsel			17				
	Articling Student/Paralegal Consultant Analyst	 		Hourly Rate:	\$230			
	For Consultant/Analyst:	CV attac	hed	HST Rate Charged (enter %):	3.9%			
		✓ CV provi	ided within previous	24 months				

31	atement o)T FE	es Being	Cla	imed		
	Hours	Но	urly Rate		Subtotal	HST	Total
Pre-hearing Conference							
Preparation		\$	230.00	\$	121	\$ -	\$ ¥
Attendance		\$	230.00	\$	_	\$ 2	\$ 2
Technical Conference							
Preparation	4.5	\$	230.00	\$	1,035.00	\$ 40.78	\$ 1,075.78
Attendance		\$	230.00	\$	-	\$ -	\$ -
Interrogatories							
Preparation	27.2 27.3	\$	230.00	\$	6,267.50	\$ 246.94	\$ 6,514.44
Responses	8.0	\$	230.00	\$	1,840.00	\$ 72.50	\$ 1,912.50
Issues Conference							
Preparation		\$	230.00	\$	(-	\$ ()	\$ -
Attendance		\$	230.00	\$	7	\$ -	\$
ADR - Settlement Conference							
Preparation		\$	230.00	\$		\$ (- 27)	\$ -
Attendance		\$	230.00	\$		\$ -	\$ (-)
Proposal Preparation		\$	230.00	\$	15.	\$ 	\$ JIR.
Argument							
Preparation	34.5	\$	230.00	\$	7,935.00	\$ 312.64	\$ 8,247.64
Oral Hearing							
Preparation	17.7 17.8	\$	230.00	\$	4,082.50	\$ 160.85	\$ 4,243.35
Attendance		\$	230.00	\$	100	\$ -	\$ 2.5
Other Conferences							
Preparation		\$	230.00	\$	-	\$ T/27	\$ -
Attendance		\$	230.00	\$	-	\$ 	\$ 121
Case Management		\$	170.00	\$, #A	\$ -	\$ (-
TOTAL SERVICE PROVIDER FEES				\$	21,160.00	\$ 833.70	\$ 21,993.70

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

File # EB-	2015-0049		Process: Enbridge 2015-2020 DSM					
Party:	VECC		Service Provider Name: Shelley Grice					
	SERVICE PROVIDER TYPE	(check one)	Year Called to Bar	Completed Practising/Years Experier	of Relevant			
	Legal Counsel			17				
	Articling Student/Paralegal Consultant Analyst			Hourly Rate:	\$230			
	For Consultant/Analyst:	CV attac	ched	HST Rate Charged (enter %):	3.9%			
		✓ CV prov	ided within previous	24 months				

Statement of Fees Being Claimed									
	Hours Hourly Rate Subtotal			HST	Total				
Pre-hearing Conference									
Preparation		\$	230.00	\$	2	\$	1741	\$	97
Attendance		\$	230.00	\$	-	\$	82	\$	-
Technical Conference									
Preparation	4.5	\$	230.00	\$	1,035.00	\$	40.78	\$	1,075.78
Attendance		\$	230.00	\$	-	\$	-	\$	=
Interrogatories									
Preparation	30.0	\$	230.00	\$	6,900.00	\$	271.86	\$	7,171.86
Responses	9.5	\$	230.00	\$	2,185.00	\$	86.09	\$	2,271.09
Issues Conference									
Preparation		\$	230.00	\$	-	\$	17.	\$	=
Attendance		\$	230.00	\$	2	\$	-	\$	22
ADR - Settlement Conference									
Preparation		\$	230.00	\$	-	\$	-	\$	2
Attendance		\$	230.00	\$	-	\$	181	\$	_
Proposal Preparation		\$	230.00	\$	<u></u>	\$		\$	_
Argument									
Preparation	34.5	\$	230.00	\$	7,935.00	\$	312.64	\$	8,247.64
Oral Hearing									
Preparation	6.2518.3	\$	230.00	\$	3,737.50	\$	147.26	\$	3,884.76
Attendance		\$	230.00	\$	-	\$	17	\$	-
Other Conferences									
Preparation		\$	230.00	\$	-	\$	127	\$	2
Attendance		\$	230.00	\$	-	\$	·	\$	-
Case Management		\$	170.00	\$	-	\$	1+1	\$	*
TOTAL SERVICE PROVIDER FEES				Ś	21,792.50	\$	858.62	\$	22,651.12

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #	
03/02/2016	2016015	

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.	
Net 30	EB-2015-0029	

		Union 2015-2020 DSM			
Serviced	Item	Description	Hours	Rate	Amount
27/04/2015	Interrogatories Preparation	Preparation; Review application & prepare LOI; emails w/MJ	0.5	230.00	115.00
13/05/2015	Interrogatories Preparation	Review PO#1; Email client dates	0.25	230.00	57.50
21/05/2015	Interrogatories Preparation	Review application & guidelines & prepare interrogatories - Union	7	230.00	1,610.00
25/05/2015	Interrogatories Preparation	Review application & prepare interrogatories - Union	7.5	230.00	1,725.00
01/06/2015	Interrogatories Preparation	Review application & prepare interrogatories - Union	7.5	230.00	1,725.00
10/06/2015	Interrogatories Preparation	Review PO#2; Review correspondence; emails	0.25	230.00	57.50
01/07/2015	Interrogatories Responses	Review interrogatory responses - Union; Review evidence update	3.5	230.00	805.00
02/07/2015	Interrogatories Responses	Review interrogatory responses - Union; Review evidence update/corrected Irs	4.5	230.00	1,035.00
03/07/2015	Technical Conf. Preparation	Review interrogatory responses - Union; Review evidence update/corrected IRs; Prepare Questions for Tec Conf for MJ	4.5	230.00	1,035.00
16/07/2015	Oral Hearing Preparation	Review Union undertakings & corrected interrogatories; Review PO#3	0.5	230.00	115.00

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #
03/02/2016	2016015

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.	
Net 30	EB-2015-0029	

	Project				
Union 2015-2020 DSM					
Serviced	Item	Description	Hours	Rate	Amount
27/07/2015	Oral Hearing Preparation	Review evidence; Review transcript; Review undertakings - Union	2	230.00	460.00
30/07/2015	Interrogatories Preparation	Review Board Staff & Intervenor Evidence (GEC & OSEA); Prepare notes	1	230.00	230.00
31/07/2015	Interrogatories Preparation	Review Board Staff & Intervenor Evidence (GEC & OSEA); Prepare notes	2.25	230.00	517.50
03/08/2015	Interrogatories Preparation	Prepare interrogatories on Intervenor Evidence	1	230.00	230.00
05/08/2015	Oral Hearing Preparation	Prepare cross estimates; discuss w/client	0.5	230.00	115.00
13/08/2015	Oral Hearing Preparation	Review interrogatory responses on Intervenor & Board Staff Evidence; Review corrected intervenor evidence	0.5	230.00	115.00
14/08/2015	Oral Hearing Preparation	Preparation; Call w/MJ re: hearing & VECC cross themes	0.25	230.00	57.50
17/08/2015	Oral Hearing Preparation	Review Union evidence; Prepare cross for Union Panel #2	5	230.00	1,150.00
18/08/2015	Oral Hearing Preparation	Review Union evidence; Prepare cross	2	230.00	460.00

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #
03/02/2016	2016015

Bill To

Public Interest Advocacy Centre
Suite 1204
1 Nicholas Street
Ottawa, ON
K1N 7B7

Terms	Docket No.
Net 30	EB-2015-0029

Project					
Union 2015-2020 DSM					
Serviced	Item	Description	Hours	Rate	Amount
19/08/2015	Oral Hearing Preparation	Review evidence and prepare cross; callw/ MJ re: cross; Revise cross; Prepare VECC Compendium for Panel #2	7	230.00	1,610.00
13/09/2015	Argument Preparation	Review Argument in Chief (Union)	1	230.00	230.00
21/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3.25	230.00	747.50
22/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	4	230.00	920.00
23/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	2.5	230.00	575.00
24/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3.75	230.00	862.50
25/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	2.25	230.00	517.50
28/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3	230.00	690.00

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #	
03/02/2016	2016015	

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.	
Net 30	EB-2015-0029	

Union 2015-2020 DSM					
Serviced	Item	Description	Hours	Rate	Amount
29/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	4.25	230.00	977.50
30/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3.75	230.00	862.50
01/10/2015	Argument Preparation	Review evidence & prepare draft submissions; review w/ client; emails MJ	3.75	230.00	862.50
02/10/2015	Argument Preparation	Review evidence & finalize submission; emails MJ	3	230.00	690.00
		Subtotal HST on Sales		13.00%	21,160.00 2,750.80

HST #10160 6028 \$2,750.80

Total \$23,910.80

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #	
03/02/2016	2016016	

Bill To

Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

Terms	Docket No.	
Net 30	EB-2015-0049	

Project

Enbridge 2015-2020 DSM

Serviced	Item	Description	Hours	Rate	Amount
27/04/2015	Interrogatories Preparation	Preparation; Review application & prepare LOI; emails w/MJ	0.5	230.00	115.00
07/05/2015	Technical Conf. Preparation	Review interrogatory responses - Enbridge; Review evidence update/corrected IRs; Prepare Questions for Tec Conf for MJ	4.5	230.00	1,035.00
13/05/2015	Interrogatories Preparation	Review PO#1; Email client dates	0.25	230.00	57.50
27/05/2015	Interrogatories Preparation	Review application & guidelines & prepare interrogatories - Enbridge	4	230.00	920.00
28/05/2015	Interrogatories Preparation	Review application & prepare interrogatories - Enbridge	5	230.00	1,150.00
29/05/2015	Interrogatories Preparation	Review application & prepare interrogatories - Enbridge	4.5	230.00	1,035.00
31/05/2015	Interrogatories Preparation	Review application & prepare interrogatories - Enbridge	6	230.00	1,380.00
02/06/2015	Interrogatories Preparation	Review application & prepare interrogatories - Enbridge	5.5	230.00	1,265.00
10/06/2015	Interrogatories Responses	Review PO#2; Review correspondence; emails	0.25	230.00	57.50
30/06/2015	Interrogatories Responses	Review interrogatory responses - Enbridge; Review evidence update	4.5	230.00	1,035.00

HST #10160 6028

Total

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #
03/02/2016	2016016

Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

Terms	Docket No.
Net 30	EB-2015-0049

Project Enbridge 2015-2020 DSM Serviced Item Description Hours Rate Amount 02/07/2015 Interrogatories Responses Review interrogatory responses -4.75 230.00 1,092.50 Enbridge; Prepare letter re: Questions for Tech Conf 16/07/2015 Oral Hearing Preparation Review Union & Enbridge 0.5 230.00 115.00 undertakings & corrected interrogatories; Review PO#3 29/07/2015 Oral Hearing Preparation Review evidence; Review 1.75 230.00 402.50 transcript; Review undertakings -30/07/2015 Interrogatories Preparation Review Board Staff & Intervenor 1 230.00 230.00 Evidence (GEC & OSEA); Prepare notes 31/07/2015 Interrogatories Preparation Review Board Staff & Intervenor 2.25 230.00 517.50 Evidence (GEC & OSEA); Prepare notes 03/08/2015 Interrogatories Preparation Prepare interrogatories on 1 230.00 230.00 Intervenor Evidence 05/08/2015 Oral Hearing Preparation Prepare cross estimates; discuss 0.5 230.00 115.00 w/MJ 13/08/2015 Oral Hearing Preparation Review interrogatory responses 0.5 230.00 115.00 on Intervenor & Board Staff Evidence; Review corrected intervenor evidence

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #
03/02/2016	2016016

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.	Ī
Net 30	EB-2015-0049	

	Enbridge 2015-2020 DSM					
Serviced	Item	Description	Hours	Rate	Amount	
14/08/2015	Oral Hearing Preparation	Preparation; Call w/MJ re: hearing & VECC cross themes	0.25	230.00	57.50	
24/08/2015	Oral Hearing Preparation	Review Enbridge evidence; Prepare cross for Panel #2	3.5	230.00	805.00	
25/08/2015	Oral Hearing Preparation	Review Enbridge evidence; Prepare cross	5	230.00	1,150.00	
26/08/2015	Oral Hearing Preparation	Review evidence and prepare cross; callw/ MJ re: cross; Revise cross; Prepare VECC Compendium Panel 2	4.25	230.00	977.50	
13/09/2015	Argument Preparation	Review Argument in Chief (Enbridge)	1	230.00	230.00	
21/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3.25	230.00	747.50	
22/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	4	230.00	920.00	
23/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	2.5	230.00	575.00	
24/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3.75	230.00	862.50	

34 King St East Suite 630 Toronto, Ontario M5C 2X8

Statement of Costs

Date	File #
03/02/2016	2016016

Bill To	
Public Interest Advocacy Centre Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7	

Terms	Docket No.
Net 30	EB-2015-0049

Project							
Enbridge 2015-2020 DSM							
Serviced	Item	Description	Hours	Rate	Amount		
25/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	2.25	230.00	517.50		
28/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3	230.00	690.00		
29/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	4	230.00	920.00		
30/09/2015	Argument Preparation	Review evidence, transcripts, undertakings & prepare draft submissions	3.75	230.00	862.50		
01/10/2015	Argument Preparation	Review evidence & prepare draft submissions; review w/ client; emails MJ	4	230.00	920.00		
02/10/2015	Argument Preparation	Review evidence & finalize submission; emails MJ Subtotal	3	230.00	690.00 21,792.50		
		HST on Sales		13.00%	2,833.03		

HST #10160 6028	\$2,833.03			
Total	\$24,625.53			